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(K8 lssue for December 10, 2014, Career Magazine, Science Careers, from the journal
Science
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absolutely; exclusively: hardly; likely; historically; practically; relatively;

scientifically; statistically; theoretically; traditionally; undoubtedly
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This English Question consists of two parts. For the first part, fill in the blanks with the
correct word from the word pairs in paventheses, For the second part, you will read a
brief section from a news article, and then answer three questions related to the article.

Complete both parts of this Question.

Part 1.

Choose the correct word of the word pairs in parentheses, numbered 1-10. On the

answering sheet, write the correct word next to each respective number.

--Scott and DeFranscesco (2015) Nature Biotechnology 33: 31-40 .

7 daunting: intimidating, formidable, challenging; malieable: flexible, easy to shape or alter
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Part 2.

Read the following three paragraphs extracted from a news article in Nature, published
in May, 2015.  After reading the paragraphs, answer questions (1) and (2) in English,
and question (3). Scores for questions (1) and (2) will be based on logic, organization, and

grammar. Spelling exrrors will not be penalized.

--Monya Baker "Blame it on the Antibodies" (2015) Nature 521: 274-276.

7 incontinence: &#k; schizophrenia: & 4 E
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Questions:

(1) Explain in your own words what potential problems you might have with a commercial

antibody, in 1-2 sentences.

(2) In about 100 words (1-2 paragraphs, 4 to 10 sentences), offer some suggestions for how
scientists as well as antibody manufacturers can improve the quality of research that

uses antibodies.

(3) The sentences numbered 1 through 5, below, are taken from the same article. Omne
sentence does not belong in the same paragraph as the others. The other sentences are
not in the correct order. Use your writing skills to construct a proper paragraph,
omitting the unrelated sentence, and assembling the appropriate sentences in the correct
order. Write the numbers of the 4 respective sentences in the proper order on the

answering sheet,




